Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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SECTION - A /’\\
.nswer any FOUR questions from Q. Na‘*f go Q No.7.

(03 Marks)

(03 Marks)
What is a MLP? (03 Marks)
What is Due Diligence? (03 Marks)
What do you mean by Golden Parac};{ﬁt{g? } G (03 Marks)
Give the meaning of share exchange ratio .- % (03 Marks)
List the methods of calculating purchase considerat‘n - (03 Marks)

K SECTION - B
Note : Answer any FOUR questtonsfrom Q.No.1 to Q.No.7.

Explain the reasons for the fallure Qf M};:nd A. (07 Marks)

Distinguish between pooling o ’ rterest method and purchase method o accounting for amalgamation.
(07 Marks)

(07 Marks)

(07 Marks)

‘A’ Ltd is plannmg ‘tmoh acquire ‘B’ Ltd. provided there is synergy in the acqul§1t10n which will
result in A LtcLz\ reﬁ@rtmg an EPS of atleast of Rs. 2.75. Consider the followmg hgf%)rmatlon

Particulars ‘A’Ltd | ‘B’ Ltd
EPS[Rs.] 2.25 2.25
MPS|Rs.] 18 12
P/E ratio 8 5.3
Member of shares | 1,50,000 | 1,50,000

share exchange ratio which will raise the post merger EPS of ‘A’ Ltd and ‘B’ Ltd. (07 Marks)
Explain the role of industry life cycle in M and A. (07 Marks)

Discuss the salient features of SEBI takeover code. (07 Marks)
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SECTION - C R

g \ Note : Answer any FOUR questions from Q.No.I to Q.No.7.
‘\ »

v

Disetiss'the efficiency theories of merger.

3 410 Marks)

¢
Explam ﬂle rational behind joint ventures.

/ o,

(10 Marks)

Discuss t}‘né\aq}’ytakeover defensive measures adopted by the firms in case 0{ a) akeover.
z‘?\ > hd (10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)

XYZ Jl‘k%i :

Par?t;icirlars ABC Ltd.
Number of equity-shear 5,00,000 | 3,00,000
Earnings after taxes\[Rs ] 25 00,000 | 9,00,000
MPS [Rs] /.~ | 14

i) What is the present EPS of both the%dﬂ’\pames‘?
i) If the proposal of merger takes place, what swould be the new EPS of XYZ Ltd. [Assuming
that the merger takes place by exchar\ge o‘ﬁequlty shears and the exchange ratio is based on
the current market prices] ¢ ; ~
iii) What should be the exchange ratjo,.
its members as before the merggr%

Amt.is Rs) \\«?/«’ /7

Liabilities /7T 0Exe Ltd. | Wye Ltd. . | Exe Ltd. | Wye Ltd.
Share capital : Y 116,85,000 | 43,57,500
Authorized . 3,500 27,500
9000 equality sha.\rés «of 1,35,000 —
Rs. 150 each {5 Y
60,000 equity @\hares of - 45,00,000
Rs. 75 each (\ \"
Paid — up ¢apital”:
9000 equx{yf§héars of Rs. [ 12,15,000 =
150 egch
40, 000 R u1ty shares of - 30,00,000
Rsy 175 ‘éa¢h
Geéneral Reserve 403,500 | 12,85,000
Profit and Loss a/c 15,000 35,000
Creditors 55,000 65,000
16,88,500 | 43,85,000 16,88,500 | 43,85,000

The holder of every 3 shares in Exe Ltd. was to receive 5 shares in Wye Ltd. Pass necessary
journal entries in the books of both the companies and balance sheet of Wye Ltd. after takeover.
The amalgamation is in the nature of merger. (20 Marks)
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